(X /11

A al # £ S
) i = =3

& E7ETITHEIE BN B BEGESTKER
£ W|mEMX < vR—ILARY TkmRy TREIE
5 7| AU BT H P B T % 210 86
X X HBERISF AR - ZRFE | HIRA —MFFE AR
B A B KSHMIE6H19H 105040 5 Tl [EBA) ZAUmH&ERT BB ZRNREZ
B 7 % B|EEHEORER hva = AN | BRI EBERE
rEEE ¥14,136,000|5 > & 6% (a) 0.99929615
D ¥13,043,000(5 v & LfF#H (b) 1.00150056

A A & 2
No. 8 AT %1 M £2m %£3m ® =
1 1&@kTys (&%) ¥13,035,000 R
2| ) NBESIE ¥13,046,000 AL
3 | REAELE (%) ¥13,843,470
4| (k) RlE+A > H+F ¥13,226,000
5| (%) = ®IERT ¥13,243,000
6| (B AKX ¥13,296,000
71 (B DILTVY ¥13,056,000
8| () ~K—7 ¥14,300,000
9
10
1
12
13
14
15
16
17
18
19




